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Cluster: 0030 ptr; resid: 0.31; r/c: 33/57

x.range

upstream meme PSSM #1; e=7.3e−07

1 3 5 7 91 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.1e+05

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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43657

1670747448

1039812186

16157

18826

20905

31254

35625

37519

37549

38757

39165

39274

39989

40088

41167

4147643619

44038

47929

48250

4840249341

49420

49679

49702

50158

50209

50238 8950

string −500 −400 −300 −200 −100 −1
41476−0.01
18826−0.11
35625−0.14
49702−0.17
49341−0.29
47929−0.29
49420−0.37
50238−0.40
16707−0.60
16157−0.63
44038−0.71
39274−0.89
49679−0.91
39165−0.95

8950−0.99
47448−1.01
31254−1.02
12186−1.04
50209−1.59
38757−1.61
37549−1.73
40088−1.78
39989−1.94
43657−2.05
48402−2.29
41167−2.36
10398−2.80
43619−2.82
50158−2.94
37519−4.25
48250−4.32
14412−4.39
20905−6.76

log10(P) upstream meme1 2 log10(P.clust)=−1.64; 33 seqs; 33 uniq
c(0.5, 2.5)
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